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PART A: Vocabulary

1- Before vou -------—- to the next question, you should take some time to make sure
you're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—---—---- ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the ---------- way the moving company tossed our boxes
into our new house,

1) haphazard 2) impatient 3) initial 4) neutral

4- The author used -------—-- when he said the dog was *“as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a -------- -- matter.
1) contradictory  2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s ~—-s-vs- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to --—-eeeev
foreibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -————--"" said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
uuuuuu dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to --—--——- their
watches.
1) tlluminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers. are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) —==mema—- the desired crop relatively unharmed.
Some of these act by interlering with (12) —-——-—-- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites, railways and railway
embankments are not selective (13) —=emmemeee all plant material with which they come into
contact. Smaller quantities are used in forestry, pasture systems, and management of areas
QI  E——— as wildlife habitat.

Some plants produce natural herbicides, (15) ==emameae- the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides, and other related chemical interactions. is
called allelopathy,

11- 1) they leave 2) when left with 3) while leaving 4) by leaving

12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed
13- 1) and kill 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

16-

17-

18-

Passage 1

The traditional approach to Artificial Intelligence (Al) involves programming a computer
with ever-increasing sophistication, In fact, there are already thousands of computers seeming
to show some aspect of intelligence. Internet search engines, voice-recognition software,
'intelligent’ clothing with built-in sensors that record bodily functions. expert systems that
control manufacturing processes - all do important jobs as well as we could do them ourselves
and in many cases much faster.

But the field of robotics shows how hard it really is to simulate intelligent human
behaviour.The first domestic robot. the Aqua Queen which cleans swimming pools. was
launched in 1966 and there hasn't been much progress since then.The problem is navigation — a

robot can't cope with a complex or changing environment: it gets lost very easily. A bigger
challenge, however. is to get robots to do more than one task. Even the most intellectually-
challenged human can do thousands of different things: a robot is usually dedicated to just one
anivity - vacuuming. lawn-mowing and so on. A multi-skilled robot would require a much
higher level of intelligence, and that's not likely to happen for a long time.

Perhaps the real hurdle in making computers and robots truly intelligent is to enable them to
recognize and express emotion. In his book Descortes’ Error, Antonio Damasio of the
University of lowa argues that emotion is essential for logical thought. For too long. he says.
we have assumed that emotion clouds rationality, when in fact, the parts of the brain involved
in both functions are linked in vital neuronal circuits.

The emotional robot has long been a dream of science fiction. Over the last few years.
computer scientists have been creating a range of animated agent faces - programs that
generate images of human-like faces on a computer VDU, Researchers at the Massachusetts
Institute of Technology have now constructed a robot called Kismet. which has a three-
dimensional synthetic head with moveable eyelids, eyes and lips.When left alone. Kismet will
look sad. but il a human enters the room, it smiles. If you are rough with it, an expression ol
fear develops. Kismet's inventors are now planning to provide the robot with a voice that can
express emotion.

What is the writer's purpose in this passage?

1) To introduce truly intelligent computers and robots

2) To describe the traditional approach to Artificial Intelligence

3) To mention the tasks computers and robots can perform

4) To discuss the possibility of creating robots with an aspect of human intelligence

It can be inferred from paragraph 2 that :

1) the robotic industry is faced with the daunting task of creating highly intelligent robots

2) since 1966 robots have been able to multitask better than humans

3) so far robots merely exhibit emotional behavior

4) for real intelligence robots have to evolve navigation

It is stated in the passage that Antonio Damasio
1) argues that emotion links different parts of the brain

2) favors the idea that emotion is essential for decision-making

53) believes that human behavior must be based on reason rather than emotions

4) provides instructions in his book on how to make computers and robots intelligent
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The word "hurdle" in paragraph 3 is closest in meaning to -----—---—--- A
1) skill 2) shortage 3) difficulty 4) invention
According to the passage, the emotional robot --—--------—- .

1) can express emotion verbally

2) shows fear when there 1s no human around

3) is able to recognize some basic facial expressions

4) developed at the MIT can burst into tears if it feels sad

Paasage2

The amount of time people spend researching. checking prices, visiting stores and seeking
advice from friends tends to rise in proportion to the value of the product they are thinking of
buying. A new car is one of the biggest purchases people make. and buyers typically spend
four to six weeks mulling over their choices. So why are some people now walking into car
showrooms and ordering a vehicle without even asking for a test drive? Or turning up at an
electrical store and pointing out the washing machine they want without seeking advice from a
sales assistant? Welcome to a new style of shopping shaped by the Internet.

More people are buying products online, especially at peak buying periods. The total value
of e-commerce transactions in the United States in the fourth quarter of 2004 reached $18
billion. a 22% increase over the same period in 2003. according to the Department of
Commerce in Washington DC. But that just represents 2% of America's total retail market and
excludes services, such as online travel. they value of goods auctioned on the Internet. and the
$34 billion-worth of goods that individuals trade on eBay.

If you consider the Internet's wider influence over what people spend their money on, then
the figures escalate out of sight. Some carmakers in America now find that eight out of ten of
their buvers have logged on to the Internet to gather information about not just the exact
vehicle they want, but also the price they are going to pay. Similarly with consumer
electronics, nowadays if a customer wants to know which flat-screen TV they should buy, they
are likely to start their shopping online — even though the vast majority will not complete the
transaction there.

Why does the writer ask questions in paragraph 1?

1) To encourage consumers to shop online

2) To introduce a novel approach to purchasing

3) To comment on how Internet use changes consumer behavior

4) To tell the reader that the face of the shop and the Internet site are changing

The expression "mulling over" in paragraph 1 can best be replaced by -—--e-ccecace- ;
1) calling on 2) looking for 3) making up 4) thinking about
According to the passage, the U.S. Department of Commerce A

1) is encouraging online shoppers to trade goods on eBay

2) is striking a blow for reducing the cost of online travel

3) has announced that e-commerce causes trouble for America’s retail market

4) has estimated how Internet has aftected the value of e-commerce transactions in America
What is the correct heading for paragraph 3?

1) A benefit to retailers

2) A look at the sales figures

3) Increasing customer confidence

4) Encouraging online feedback from consumers

With which of the following statements does the author most probably agree?
1) The internet has empowered shoppers both online and offline.

2) People should buy only cars and electronic goods online,

3) Online shopping is the most effective method of shopping in America.

4) Peak buying periods are not the best time for online shopping.
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Passage 3

All over the world. libraries have begun the Herculean task of making faithful digital copies
of the books, images and recordings that preserve the intellectual effort of humankind. For
armchair scholars, the work promises to bring such a wealth of information to the desktop that
the present Internet may seem amateurish in retrospect.

Librarians see three clear benefits to going digital. First. it helps them preserve rare and
Iragile objects without denying access to those who wish to study them. The British Library.
for example. holds the only medieval manuscript of Beowulf in London. Only qualified
scholars were allowed to see it until Kevin S. Kiernan of the University of Kentucky scanned
the ancient manuscript with three different light sources (revealing details not normally
apparent to the naked eve) and put the images up on the Internet for anvone to peruse. Tokyo's
National Diet Library is similarly creating detailed digital photographs of 1.236 woodblock
prints, scrolls and other materials it considers national treasures so that researchers can
scrutinize them without handling the originals.

A second benetit is convenience. Once books are converted to digital form, patrons can
retrieve them in seconds rather than minutes. Several people can simultaneously read the same
book or view the same picture. Clerks are spared the chore of reshelving. And libraries could
concervably use the Internet to lend their virtual collections to those who are unable to visit in
person.

The third advantage of electronic copies is that they occupy millimeters of space on a
magnetic disk rather than meters on a shelf, Expanding library buildings is increasingly costly.
The University of California at Berkeley recently spent $46 million on an underground
addition to house 1.5 million books - an average cost of $30 per volume. The price of disk
storage, in contrast. has fallen to about $2 per 300-page publication and continues to drop.

What is the passage mainly about?

1) Books of general interest 2) The usefulness of digital copies of books
3) The largest digital libraries in the world 4) Scholars™ attitudes toward electronic copies
According to paragraph 2, the British library --eeeeceeueae ‘

1) denied having the old manuscript of Beowulf

2) is the first library in the world to go digital

3) allowed a few scholars to scan a very old manuscript

4) has made electronic copies of Beowulf publicly available

The word "scrutinize' in paragraph 2 is closest in meaning to =
1) choose 2) copy 3) examine 4) exchange
With which of the following statements does the author most probably agree?
1) People are not interested in visiting a digital library in person.

2) Electronic libraries will make today’s internet pale by comparison.

3) It is not a good idea to scan ancient manuseripts with light.

4) Building electronic libraries will be very easy in the industrialized countries.
What is the writer’s attitude toward digital libraries?

1) Objective 2) Biased 3) Sarcastic 4) Argumentative
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